
©C V2U0X2d4w `KZuTtGav ]SaoLfXtZwAaRrseW uLULwCD.h d jApl_lB craibg^hntjsA SrQeTsEearSvue`dL.Z x wMkaLdkeX HwZihtIhH QIVnCfVirnviRt_e^ cAvlCgKeqbjrMaM H2o.

Worksheet by Kuta Software LLC

Precalc

Polynomial division practice (3.3)
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Divide.

1)  (5n4 - 40n3 - 90n2 - 15n - 70) ¸ (5n + 10) 2)  (12x + 42x2) ¸ (7x + 2)

3)  (p4 - 12p3 + 26p2 + 10p - 9) ¸ (p - 9) 4)  (15x5 - 45x4 + 12x2 - 24x - 36) ¸ (3x - 9)

5)  (30x - 44x2 - 2 - 17x3 + 5x4) ¸ (-2 + 5x) 6)  (8v4 + 29v3 + 47v2 + 28v + 10) ¸ (8v + 5)
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7)  (5n4 + 2n3 - 50n - 17) ¸ (5n + 2) 8)  (8x + 72x4 + 95x3 + 28x2) ¸ (7 + 8x)

9)  (-72 + 9x3 - 21x + 3x4) ¸ (3x + 9) 10)  (79 + 98k + 73k2 + k4 + 16k3) ¸ (9 + k)

11)  (6x5 + 10x4 + 36x2 + 72x + 24) ¸ (6x + 10) 12)  (36m3 - 108m2 + 122m - 74) ¸ (6m - 10)

State if the given binomial is a factor of the given polynomial. (It's a factor if there is no
remainder!)

13)  (9p3 + 96p2 + 105p + 30) ¸ (9p + 6) 14)  (29 + 21x3 + 99x + 6x4 + 72x2) ¸ (6x + 9)
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15)  (2n5 + 10 - 13n4 - 38n2 + 28n3 + 41n) ¸ (2n - 5)

16)  (4m4 + 9m3 + 12m + 27) ¸ (4m + 9) 17)  (40b2 + 18 + 5b3 - 110b) ¸ (-10 + 5b)

18)  (8a2 + 8a - 3) ¸ (8a + 8) 19)  (35n2 + 15n + 5) ¸ (7n + 3)
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Answers to Polynomial division practice (3.3)

1)  n3 - 10n2 + 2n - 7 2)  6x 3)  p3 - 3p2 - p + 1 4)  5x4 + 4x + 4

5)  x3 - 3x2 - 10x + 2 + 
2

-2 + 5x
6)  v3 + 3v2 + 4v + 1 + 

5

8v + 5

7)  n3 - 10 + 
3

5n + 2
8)  9x3 + 4x2 + 1 - 

7

7 + 8x
9)  x3 - 7 - 

3

x + 3

10)  k3 + 7k2 + 10k + 8 + 
7

9 + k
11)  x4 + 6x + 2 + 

2

3x + 5
12)  6m2 - 8m + 7 - 

2

3m - 5
13)  Yes 14)  No 15)  Yes 16)  Yes
17)  No 18)  No 19)  No


